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2019 (A) ' A,

] SSC PART- (9th CLASS)
pHv@ics (NEW SCHEME) GROUP-l  ( 2015-2017 % ) e - (£ 2) 5
TIME ALLOWED: 145 Hours SUBJECTIVE _EL» 135 = =
MAXIMUM MARKS: 48 —48 = AF

NOTE: - Write same question number .4.615¢§.{.J'rf£5£ Z-,::,,J’Zul/,}d!ﬂ}:{éﬂ}!ﬂ s
and its part number on answer book, as given in the question paper,

SECTION-l (sLe

2. Attempt any five parts. 10=2x5 -é(}:ow.’:'zl&adf 240y
( What is meant by Derived Quantities? Se e Urnsid 0}
() What is meant by Scientific Notation? Ye e .)’-“i.ﬁbb (i)
(i) Define Zero Error and Zero Corraction & ..g;‘.fg’f,ﬁﬂ Mgzl ()
(iv)  Differentiate between Rest and Motion - OndAbFrmes, ()
(vi  Define Transiatory Motion and Rotatory Motion ~EA iR P )
(v}  Define Force and write its formula ~ZUrE S AZE S (i)
(vii}  State Newton's Third Law of Motion and give an example S ELAE ST A S (i)
(vii)  Define Mcmentum and write its unit in S.1 = _-;gt’wutg}f.uiml,{.gfufﬁv’ {vin)
3. Attempt any five parts. 10=2x5 e lingie ) 340y
() What is the difference between Like and Unlike Paraliel Forces? S I L N5 Filgin by i)
() Why the height of vehicles is kept as low as possible? te Seod Pl leniont )
(w)  State Newton's Law of Gravitation E Il g’-':;'g,«zw’x‘ (ini)
(V) Why does the value of "g" vary from place to place? "«_’-JKWJ -ﬂ{uz‘»-ﬂ:—f dg ()
(¥} Whatis meant by Gravitational field strength? ‘et WS W
(vi)  Define Energy. Give types of Mechanical Energy -'@:(Lilé.,{;'.,‘?r LA A i)

(i) Define Potential Energy and write its formula. -g..‘%ntirwm‘.{ ) /7.,(‘5).}’-'; (vii)
(9=10ms?) =PI VB am Ll e K 50 (i)
(vil) o body of mass 50 kg is raised to a height of 4 m WhaQ»Rolential Energy? (g = 10ms?)

4. Attempt any five parts. 10=2 x@/ .é;fapzé'z@gc.df -45")':'

{ii  State Archimedes Principle. O EIPE st ()

(§)  The mass of 200 cm? of stone is 500 g .,’,{(P&*'MQ @ 500 g WAL s 200em® 01 (i)
Find its density O’

() What is meant by Young's Modulus? .é},’(ﬁ»’ R Sessde s (i)
Write down its mathematical formula /b

(v)  How does heating, affect the motion of molecules of a gas? fetn’ ly"f.;v{jr\!};i'«;.ﬁ:f' {iv)

(v)  Wnat is meant by Volumetric Thermal Expansion? ~E i e el ing .:L'J.,Crﬁu v
White its formulz also,

(vi)  Write the uses of Conductors and Non-conductors. LMWL W w3 i)

(vii)  Write two consequences of Radiation, -{Lf}'nsi.-,’ﬁvdé, (vil)

(will)  What is meant by Global Worming? What is its main cause? e Py e e Lagk (vl

SECTION-Il pus.0

NOTE: - Attempt any two questions. 18=9x2 -5(/’:.0,'.2&:. mmadf -4
S(A)  Siate and explain the Law of Conservation of 4 . oobne Ut furalingt Jbwiidst, 72 e ()5
momentum with .the help of spheres example.
v isdditicmisd L 3s Ine @B rog it Y0P pinte inf 0 me? AL (L)
(B) A tennis ball is hit vertically upward with a velocity of 30ms™* 5 gl ST LT At iled
[t1akes 3 s to reach the highest point  Calculate the maximum height reached by the tall
How long i will take to return 1o ground?

6.(A) Define Equilibrum, Explain states of equilibrium 4 ylouluteitist ".u;)’.ei&f;d,f I ()8
Fond 50ms™ (AP e eyt e taite e 5 AP 200N LN 20 (L)
) Aforce of 200 N acts on a body of mass 20 kg The force 5 eV ELE i /N

accelerates the body from rest until it attains a veiocity of 50 ms™ Through what distance the force acts?
7(A) Define Evaporation. Write factors which affect it 4 SpllvaiMeofsd glaiifum ()7

5 L RIAMES g e miig VLY e 10 0 WISEL AL FL (L)
(B} A wooden cube of sides 10 cm each has been dipped compietely in water. Calculate the up thrust
of water acting on it

17-2019(A)-71000 (MULTAN)



2019 (A) o

SSC PART-l (9th CLASS)
prvRcs (NEW SCHEME) GROUP-Il  (2016-2017 ¥ ) s Sl (5 &) U5
TIME ALLOWED: 1.45 Hours SUBJECTIVE _¥Le 145 = =
MAXIMUM MARKS: 48 48 = AF

NOTE: - Write same question number -acz:g}f.’,..{.glyﬁg’,{ L/:/:]M/Jlrwuqmli kg
and its part number on answer book, as given in the question paper.
SECTION-I ,,J:i

2. Attempt any five parts. 10=2x5 el & 240w
() Why "Screw Gauge" is considered more-useful P PR A | L{(}_.JJ 4"{//9 (i)
than "Verier Calliper"?
(i)  Whatis meant by Zero Error and Zero Correction? t/y’;.u‘f,f.{, ol mm (i)
(i) Write the method to find least count of screw gauge - .¢)i’ UK XBE (i)
(iv)  Why vectar quantities can not be added and subtracted like 7dngo’u:[ L)Juuuv /nld' Juuw/ ’ (v)
scalar quantities?
{v)  Define Positive and Negative Acceleration. -M/..e/if.fk‘v » m; (v)
(vi)  State the Law of Conservation of Momentum LRI ()
(vil)  Why do the passengers move out ward when a bus TP P J)J/&/w\xwk_ub’m/«f = (vii)
takes a tun?
(viil) State Newton's Second Law of Motion and write its equation. S St R e (i)
3. Attempt any five parts. 10=2x5 gg/j..g'fél‘?l c_Jf -3/Jlr
(i)  Whatis meant by Resolution of Forces? e e ,,1._: iz (I)
(i) Differentiate between Torque and Couple. LIS ()
{if)  For what purpose artificial satellites have been sent into space? fe s RS bl Lad i)

(v} ¥ R isdoubleomanwhatwill(_“ ( u*ggo/ﬁ)‘fz_fiig‘;_-,fj "g" e wuSoh R 4 (iv)
be changein "g" ( wheres'-'-;‘ ) &

(v)  Whatis the distance of geostationary satellite from tq_ﬂﬁ)n.—_ WL L e A iy W)
earth and what is its speed with respect to earth?

(vi)  Define "Work" What is its SI unit? /) ey SIR E AL (vi)
{vii)  What are Solar Cells and write their use I s Lo/ Xh  (vii)
{vii)  Define Watt and write down names of its larger units. %qf e xE S Pl (vii)
4. Attempt any five parts. 10=2x5 Lli&!?iékc_d/ -4 )
(i) Themass of 200cm’ volume of a stone is 500 2, -é(}*‘;(‘w - SOOg KAL ridy 200cm’ g (I
Find its density. -
(i) Define Pressure and write its formula. -&rlstwlslé-a!fJP( ()
(i)  State Archimedes Principle. Lol i)
{iv)  Define iatent heat of Fusion and write its formula ﬁnb(mm{u/&.ﬂi‘ﬁf 13 (v)
(v)  Convert 100”F into the temperature on celsius scale, -Q/U;yut‘kcﬂ,é/ 100°F 4‘}‘5 <Ll (v)
(vi)  Why are metals good conductor of heat? fwdxuz’/Jﬁ&.ltzyr (vi)
(vil)  What is the difference between Conduction and Convection? te JIL T dr e (vi)
(viil)  Define Thermal Conductivity. S ASETDF (i)

NOTE: - Attempt any two questions. 18=9x2 -g{_//’.:,yzé.-,uw%.éf OV
5(A) Derived the Second Equation of Motion with the 4 eSS e e sa S I ey ()5
belp of epaed-time graph?
5 tnea ATl LivVe ied 3ms™ Lol 2L s0em LA 05 (&
(B) How much centripetal force is needed to make a body of mass 0.5 kg to move in a circle of radius 50 cm
with a speed 3ms™

()8
6{A) Determinea btoe from Its perpendicular components. 4 LIPS s 45
A man pulls é,—muwwux‘ b ¥ F50m L60s il 300N IBLETL (L)
(B) abiockwlmalorceof300Nthrough50mm805 Find the power used by him to pull the block.
4 V=Vy(l+ PAT) St iy /s ik dmnspds (N7

7.(A)  Define volume thermal expansion and prove that }/ = Vo(l + B AT)
5 e siThe IC 0K 125000 N &7 -4,:;,.;‘5L¢J,}qnm{j (barge) 142 8m S 40m L (L)
(B)  Abarge 40 metre long and B metre broad, whose sides are vertical, floats partially loaded In water

If 125000 N of cargo is added, how many metres will it sink?
19-2019(A}-53000 (MULTAN)



PAPER CODE 2019 (A) . Ay

NUMBER: 1471 SSC PART- (9th CLASS)

PHYSICS (NEW SCHEME) GROUP-  ( 20152017 ¢ ) b -/ (£ 2) 5

TIME ALLOWED: 15 Minutes OBJECTIVE (55 15 =

MAXIMUM MARKS: 12 2= A
Ao B | s T P w;ué{.g-.»&,hm&mm “2LEID C.B.A =2l e RO

fu 4t -fc’-ypud."f."J/bt.-..'-ﬂ{’..{:i sz -fxzﬂw,,cz..-&w.-.,ﬁfL/; Javy L.&'ju,;‘mp.-__{r =7
Note: You have four choices for each objective type question as A, B, C and D. The choice -L{/JJ";.; s~

Q.No.1 A Ay

(1) s the smalest quanity, eMecisr )
(A) 0.01¢ (B) 2mg (C) 100mg (D) 5000ng

(2) Conversion of ms~" to Kmi™! is equalto- <L dag kil me
(A) 0.36 Kmi™! B) 0036Kmh™"  (C) 36 K~ (D) 3.6 Kmh™'

(3) The unit of Momentum is:- < )
(A) Nm (B) Kgms™ (C) Ns (D) Ns7!

(4) Newton's First Law of Motion is valid only inthe absea® of- < bx JUefydRk L it o )
(A) Force (B) Netforce uiie (G Figtion ) D) Momentum (%

(5) Aforce of 10 Nis making an angle of /i1 e 30° AL |- XUl 0N (5)
30° with the horizontal-axis. Its horizontal component willbe:- 4o

(A) 4N (B) 5N (C) 7§ 4 (D) 87N
(6) Thevalue of 2 ata height of one earth's radius above the +Jx;§£}é;£f4£¢;¢¢;t’dJ g @
surface of the earth, is:- O
W 2 ® 3¢ © 3 (ﬁ;g
(7 Wthe velocity of a ooy becomes doutle, then s Kinelcenergy: B )
(A) Remains the same <24 (B) Become double ¢ it/
(€) Become four imes <. Jynty (D) Become half & (JousT
(8) Rate of doing work s called:- GRS )
() Power O)Torque Lt (C)Velosity 1y . (0)Momentum %+
(8) The approximate length of a glass tube to construct a .g.gdeWJ.,fJA’{.LLh)-’m’dg 9)
water barometer should be:-
(A) 0.5m (B) 1im (C) 2.5m (D) Im
(10). The number of ways by which transfer of heat takes pc:- BRI 2B (10)
A3 (B) 2 €5 o4
(1) The value of specific heat of dry soilis about.- e dnlfedlennfs s )
(A) 42004k~ k~! (B) 8l10/Kg ™'k
(C) 700 kg 'k~! (D) 3000JKg 'k~ ol
(12) Land and sea breezes take place due to;- & nlhenf ‘dff-i!'dtr-) (12)

(A) Conveciion curent /7% (B) Conduction 4% (¢) Rediaton i (D) Absorption o
17(0b)( ¥ )-2019(A)-71000 (MULTAN)




|PAPER CODE | 2019 (A) l\//f / ) Al

NUMBER: 1472 SSC PART-l (9th CLASS)

PHYSICS (NEW SCHEME) GROUPI (20152017 ™) - Lo/ (£ ) /5

TIME ALLOWED: 15 Minutes OBJECTIVE Q;_')Z'.A? 15 =

MAXIMUM MARKS: 12 12= 4F
AeeiB L SARIIS L parne 2 UL L s Ll e g $¥37 - LE s D 4 C B A W2 L i e

¢pgLrn F Jgﬁ’ﬁ‘\jfg‘-‘—li‘lf‘— 2y l(uu'h - fnnjﬂ."luﬂv::—»‘\!'g S Jev ! Lféfun}hnpg L
Note: You have four choices for each objective type question as A, B, C and D. The choice /2 e e
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark In that question, Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER,

QNo.1 A Ay

(1) InS.I system, the unit of mass is:- < FALTSE (1)
(A) Second £ (B) Meter % (C) Kiogram ¥ (D) Newton

(2) The motion of a body in straight line is- <Uimedoers o

(A) Circular motion %, (B) Random motion e,
(C) Linear motion v (D) Translatory n@&. o

(3) InS.Isystem, the unit of Momentum is:- (/& ) -‘acf‘gb’(guf’ Sl (3
(A) Kgms™' (B) Kgms™ (€) NS5 Vo (D) Am

(4) InIsolated system, the momentum after colision of two bodies is:- O/) SRt )
(A)creased ¢-teo (B) Constant ¢t (C) Dectease &£yt (D) Zero .5,

(5) The number of forces that can be added by head to tail rule:- ﬁyd&@uﬁ&ﬂ@ﬁi&: (5)
(A) 2 (8) 3 (C) 4 (0)" WA

(6) Thevalueof ‘&' atmoon is:- -‘c..uf:,( ‘g ke (6)
(A) 9.8ms™? (B) 10ms2 (C) 1.7ms™2 (D) 1.6ms™2

{7) In Einsteins-Mass-Energy equation, "C" is the:- .adf;u " Ll edT (@)
(A) Speed of sound 4 fotT (B) Speed of Earth 4(futs
(C) Speed o ight 5 (D) Speed of elecron Lz1j

{8) The formula of Power is:- -‘amli&;g {8)
(W) P=wi ® =2 C) P=m D) P =ma

(9) InS.I system, the unit of stress is:- e AT s )
(A) N~ (B) Nm2 (C) NS (D) Nm &L Fy

(10) The thermometer is use to measure:- et L S i (0)
(A) Temperature of body =AZ»6/ (B)Force (¢  (C)length ¢/ (D) Time =

(11) In solids, heatis transferred by.- -;..z)w/m{rw# (1)
(A) Radiation Kf2, (B) Conduction ' (C) Convection ¢*s" (D) Absorption /4.

(12) In gases, heatis mainly transferred by - wafeirfited (12

(A) Molecuarcolision ¥4 (B) Conduction " (C) Convection ;%" (D) Radiation 524ss
19(0bj)( < -2018(A)-53000 (MULTAN)



